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Notes: 1. Illustrate your aaswer necessary with the help of neal sketches'

2. Use ofpen BlueDlack inVrefill only for writing the answer book

What is a distributed operating s)-stem? Explain how it is different from [etwork operating 7

syste .

Explain the three tier client server architcctuc. 7

OR

Explain lhe various functions oflayers ofATM protocol reference model. 1

Wtat do you me?ur by VMTP? Explain its working. 7

What is the ne€d of RPC? Explain its implementation. 7

List the different lorms ofIPC and explain any one ofthem. 6

OR

What is RMI? Explain its wo*ing. 6

What is ordereal ftessage dclivery? Compare the va ous ordering semantics for message 7

passing.

Explain rhe different approaches to deadlock handling in distdbuted operating system l

What is the nced oflogical clock? Explain its working. 6

OR

Comparc cenbalized and distributed mutual exc.lusion algo thm. 7

State and explain thc election algorithm. 6

Compare stalic and dynamic load balancing techniquc j

what is the need ofproccss migration? Explain. 1

OR

Explain the differeot issues in designing a th'read. 7

What arc the dilleIent types of laults / Give its classificatioq. 7
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\l'hat is a shared memory? Explain its implementation.

Explain su.irched multiprocessor based DSM slstem.

OR

What do you mean by thrashing? Explain how ir can be reduced.

Dillerentiate between bus and ring based DSM q stem.

What is the need ofa naming s]'stem? Explain its desirable features.

Explain lhe various types ofname caches.

OR

WJrat is the need ofhierarchical namespacc? Explain rarious approaches to global naming
,'f objects in hierarchical namespace.

Differentiate betu,een active aId passive attack.
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